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6.28 A quantity of air amounting to 2.42 X 107* kg undergoes \AWV\A’Q
a thermodynamic cycle consisting of three internally reversible 9
processes in series.
. : : 1 C
Process 1-2: constant-volume heating at V = 0.02 m’ from \ o~ r=c
Py = 0.1 MPa o p, = 042 MPa
Process 2-3: constant-pressure cooling 3 \
Process 3-1: 1sothermal heating to the initial state

Employing the ideal gas model with ¢, = | kJ/kg - K, evalu-
ate the change in entropy, in KK, for each process. Sketch

the cycle on p—v and T—s coordinates.
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